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Run 5772 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 69623
Mean: 15,7252 «/- 0UDD20
St Dhey- 0U7467 4~ 00020

=== Lager OFF ---
Eniries: 26262
Mean: 1.5009 «- 0.0015
Sl Dhey: 02432 - 00071

|

Run 5772 quartetwize, Diffs)

=== Laser O -—
Eniries: 69623
Mean: 07370 «- 0.0018
Sid Dhey: 0LAGES - 00073

=== Laser OFF ---
Eniries: 26262
Mean: 00073 «- 0.0018
Sid Drey: 02906 +~ 00073

Run 5772 quartetwise, Asyms(

=== Laser ON -—
Eniries: 69623
Mean: 31.2926 &/- 0075
Sid Dev: 198931 /- (LDE33

=== Laser OFF ---
Eniries: 26262
Mean: 00553 «- 0.0761
Sid Dev: 12,3399 4/~ (LWOG3E

]
=

S0

000

20010

1001

S0

000

2001

1000

Run 5772 quartetwise, NegHalAccO/NSamplas)

=== Laser O -—-

Enlrie=: 646X3
Mean: 12,8807 - 000027
Sid Dhew: 008N o8- 00079

=== Lager OFF ---
Enlries: 268262
Mean: 15736 «- 00015
Sid Dhev: 02427 & 0.00711

|

Run 5772 quartetwise, Sums0

=== Laser O -—-

Enlries: 689623
Mean: 26.7133 /- 000052
Sid Dev: 13702 & 00037

== Laser OFF ---
Enlries: 26262
Mean: 316043 +- 0.0024
Sid Dev: 03895 - 00017
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Run 5772 quartetwize, Asyms USbgl
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=== Laser O -—
Entrie=: 69623
Mean: 0005 +- 0.0019
Sid Dhey- 0.5065 +~ 00014

=== Lager OFF ---
Eniries: 26262
Mean: -0.0027 «/- 00X
Sid Dhey: 0.505% - 00022

_al ]

Run 5772 quartetwize, Asyms DSbgl

[
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=== Laser O -—
Eniries: 69623
Mean: 00003 «- 0.0005
Sid Dhey: 001195+~ D003

=== Laser OFF ---
Eniries: 26262
Mean: 00006 +- 0.0007
Sid Drey: 0017190 = 00005

Run 5772 quartetwise, Asyms Horiz Fingar

=== Laser ON -—
Eniries: 69623
Mean: 0O04T +- 0.0013
Sid Dey: 03547 - 00070

=== Laser OFF ---
Eniries: 26262
Mean: 00003 +- 0.0030
Sid Dhey: 0806 - 0.0021
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Run 5772 quartetwise, Asyms UShg2
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=== Laser O -—-
Enlrie=: 646X3
Mean: 00026 «- 00013
Sid Dhev: 0UIEET & 000G

=== Lager OFF ---
Enlries: 268262
Mean: 0000043 +/- 0.0
Sid Dev: 03418 - 00015

1.5 a 0.5

Run 5772 quartetwise, Asyms D5bg2

=== Laser O -—-
Enlries: 689623
Mean: 0000 «- 0.0004
Sid Dhev: 010G &~ 0003

== Laser OFF ---
Enlries: 26262
Mean: 0005 +- 0.0007
Sid Deyv: 01058 - 0.0005
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Run 5772 quartetwize, Asyms Vert Finger
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=== Laser O -—-
Enlries: 69623
Mean: 0LO0ST +- 0.0010
Sid Deyv: 0.2558 - 0.0007

== Laser OFF ---
Enlries: 268262
Mean: 000243 +- Q.00
Sbd Deew: 03231 &~ 0.00714
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Run 5772 quartetwize, posH4 vs time
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Run 5772 quartetwize, USbg2 ve time

Run 5772 quartetwize, USbg1 ve time
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